Q1. Let u, v be the vectors as given
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a. A vector w so that u, v and w are linearly independent
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b. Vectors w,x so that the vectors u,v,w an
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Q2. Let T : R* - R? be a linear transformation given by the matrix
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a. Find the image of a unit box and show it graphically. 6'16 I a9 @ 0# ( -%) 59
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b. Show that the transformation above is one to one.




Q3. Consider the following matrix
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a. Reduce the matrix into Echelon form
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a. What is the dimension of Null(B), assume p # 07
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c. If p =0, what vectors form the basis for Null(B)
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Q5. Construct a 3 x 3 matrix such that %
a. The columns form a bhasis for R? , 2
| o o {7\,\& Co‘V\‘Mv\ Q‘Q A gfaW\ \0"\3'53 (;4( R '
¢ ¢ |

-

Q.
o r
a

QOSL o

l
0
.

Q6. Let A be the following matrix, and let B be it’s Echelon form.

1 2 -5 11 -3 1 204 5
2 4 -5 15 2 005 -7 8
= 12 0 4 5 b= 0000 -9
3 6 -5 19 -2 0000 0
a. Solve the system of equations Ax = 0 / .
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X Q7. Let S ¢ R? consisting of vectors u such that z +y + z = 1, where
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Is the set S a subspace of R, why?
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Q8. Use Cramer’s rule to compute the solution of the system of equations
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